FE A 2005 F AR i 22 L B 55 A iR

L H 2 HEZ FLEHMAM: 332
B EREFI 3 &
(ZEERETHZTEAL, TEFETLHZE-BTH

—. HINEER (F/E 4

1. ¥z 08, sin2z-2sinz 5 2 BREMHIE/ND, Wk=
W4 B3 (©2 @A

BB f2) = Lo (~o0,0) HESZ, Hl lim f(o) =0, MAFHC 0,0 RUHERL

@fﬁuo,uo (BYa>0,b>0 (C)a<0,b>0 (Mae>0,b<0

3. R a,B,m, 72,7 TR ARFIEE, BHAl = o,m, 72,7 = 5[B| = |8,71,72. 73| =
-1, 0 (A + Bl B4{E A4
(A)4  (B)6 (Y32 (D)4

4. HXERE y = fl2), H fzo) =3, W2 Az - 0 B, BT » LROS 4y B
(A) 5 Az ZHrXE D B 5 A BN EFD, BRSH.
(C) W Az B/ (D) W Ac BRI E /N

-1
5. 3 =2 BRI A 9~ MERE, W (147) H—EHR
4 3 1 1
(4) 5 (BJJE @5 Dy
6. ZFrtlar IRy - =32 HERERE
(N =az+br+¢ {B) ¥* = z(az + b)
Oy =zlaz? +br+c)+2 (D) y* = z*(az? + bz +¢)

= EBE (wE )

1% 0y =2, AHBM= /a.

h

LG

2
2. 1% lim (I +1—a;1:—b)=1,m|]a= ' b= “L.
r+1




z : VN
3. 1% flz) FEEE, / H0) dt:—%+%cosz. Jill f(%) =T . -
i -

N X
N Ao L BV [f(x)] = ot
-k ﬂﬂ—ll+xm§0’9”‘ e ozgo AT ;{I X&)

5.8 n MMAERE A MR TTTRZMBAT, 5 A MER -1 NSrEa
AX =0 [EIEN X -( «LFe)

6. 1 |4 = a 7 A* 2 A BUAEBEAERE, M) (4= _a" '~ FiT~
= HE(BEE 10D
1. T sin’z -

o SinTr+4cosz

ez l/sinz
2. . m{3e) :

z—0 \ T+ 2

3. WHALIRRTH RBRBSE ARAITF TR o 4§ RIS

[]ldyf_ff{x,y)h- ;

4. K p = v2sind GAEHIER 02 = cos 20 FF Bl A (0 T 10 (R T2 A TR .

. d
5. DHMlz+y—2=¢€* zxe* =tant, 1=cost.5kd—i

=0

6. 1T [/m_x%h@, D: 0<z<1, 0<y<?
D

7. BEARNRETREA

(1){ 1 +xza = 0 , (2){ n—-—a+zz = 0
zp—2z4 = 0 Ta—23+24 = QO
RECENTHAIER.

[E¥)




8. I f(z) = ax® — 6oz + b FEIX[H] [-1,4] BIF AN 3, Be/MEY -20 H o> 0, 3K
ab

. EERRE (124, S22/ 104
1. iFHH. %0<m<%ﬁi{', sinz + tan s > 2z.
2 BRI AR BHEE, FRIBA AX =0 MEMBER nin--.n E54E

& E/AG=n, i=12 -t
iIEEﬁ 51152:"'a‘ft,ﬂl-,’?z,"',??t %‘Iﬁaﬁ;&




	数学乙-2005-001.tif
	数学乙-2005-002.tif
	数学乙-2005-003.tif

